2014/15 VRR Curves

Actual and with Point “a” Adjustments

$700

$600

)

$500

$400

&
]
=
o

$200

VRR Price ($/MW-d UCAP

$100

$0

RTO
(Highest Curve in 2014/15)

Point a =
] b+1.0x CONE

Current Point a =
1.5x Net CONE

Gross CONE

Point ¢

T T T T T T T T T 1

-2% 0% 2% 4%
Percentage Points Above Target IRM

4%

6%

$700

$600

$500

$400

$300

$200

$100

$0

SWMAAC
(Lowest Curve in 2014/15)

Point a =

_Ql.l]x CONE

Current Point a=
1.5 x Net CONE
Gross CONE

E&A/S

-4%

-2% 0% 2% 4%
Percentage Points Above Target IRM

6%

The Brattle Group



